TS /[CIE - MX[.SX]
O/ L-.O = L - T L=
FELWAE : @20, @25, 332, 40

e &1 Tls

@ IAFE ZEO| HES L
® 158} Oj&te| &+

® COMPACT - 3%

@ =5t Li DUSTA

@ L&t Xtofo| 74

HA 7|5
sy =
\ \
s Al
F=A
] =
m AgAIE_":-l EKI_-I | . %I_|) XFEI:(QAI _ =y
% RFAILYELO| 7|§?§%‘ N ;;Eggﬁg Z!-KIKI n?‘/uEEn_
T: 52238
HREAl # T Zo|etof ol BT S 514 (mm) 20 25 | 32 40
B: 7|28 Azl glof ofs =7 wEdstZEan 0 D
- S50 2o (oo 2o &7 ¥ Y5 FEZT TCM-L020B | TCM—L032B | TCM—L040B
F:2E% ZUXE A= Blof ofs FZTI EHXZT TCM—F020B | TCM—F032B | TCM—F040B
G:lES 2Ry R A N N -
C: 14k S| A AEES 14 28H|AZ T TCM—-C020B | TCM—C032B | TCM—C040B
D:2M 232 2715 BEE 24t 2|H|AZ 7 TCM-D020B | TCM—D032B | TCM—D040B
T:HES E2L2Y XC16 : =A27+ EPURHERAZF TCM-T020B | TCM—T032B | TCM—TO040B
U:ZEZ ELRY
E: 2dH|A HE REARX| BF HFES R FEOH 2217F Sa ELICL
BZ : COMPACT(2AZE)7 |28 SEM 2EASR|
FZ:COMPACT (2 AZ E)Z2HX| WS B (D 2HE> AO|%| H X /E = =
UZ COMPACT(EAZE)ER|L| 28 C73K : D-C73K LEARX| FAME /FEEH
% 2|24 Zol= 05m(EF)0[ch 3me)
s=2U3 Ao EHTO| LS 0 BAIBHL QEAQR| FELHA (mm)
20 : 20mm ofl) C73KL:D-C73KL %gé! 20 o5 32 40
25 :25mm
32 :32mm i'f—_'?"ﬂ X 7|§—
40 : 40mm 2|5 oY BE& D-C73K TBM2-020 | TBM2-025 | TBM2-032 | TBM2-040
S 1 A
(&) MBI EZF3H(mm) nooonZhRE
@20 : 25,50,75,100,125,150
@25 : 25,50,75,100,125,150
@32 : 25,50,75,100,125,150,200
@40 : 25,50,75,100,125,150,200,250

102




Ezg/os #5521 TCM2 Al2[=

o CiE/MTY SAl
7|20l 2falf M, Azl
of5| Szl &L (mm) 20 | 25 | 2 | 40
— T = —
M o A - 29 5y
. —_
2olot0f ofef 27, Azeigll L. nuERERTe
ol 0 3|_ Axe|o e
=/1= = = 572 RePD18 | RePT1/e | RePTig | RePTij
ol M&I KHAL (O} U ) LY & HERH|
HE2OEAQX
T I SEE 25 ASK|/D-CTK
W HIEY oA (HERAHE) T
AHSTHO MHEA| SXIBHA| T, OHEIAS F0| Af
39 B FolAYES ADSHIN L.
. - H=ALRF
| S ZolAE |
Oz ESETT oEEz R
® 7{H S S2I%| nRyA2. g s 7l
M2ic| RE U TS0 HYS LAHIZA EENIE 1.5MPa(15kgi/om?)
7} BIZ3HR, A FBHET} THests

1.0MPa(9.9kgf/cm?)
0.18MPa(1.8kgf/cm?) | 0.23MPa(2.3kgf/cm?)

Holol Euct

AR g e

O zx Foex U ABRHRE —10C ~ +70C
® AU 2|0] EX0i| FOISIAI2. = 7 ELR (RSP
Z2C IjZ wEo| UM AH 2ol ZE LIAFZ X} KS 25
AN A o] SESIHK| S=X 2HEH3| . ———
zojstAe. ) - SILOIS SR i)
@ &3 0| AZH0| EX| A= SHIA L.
DHIEE AEsts A0 ARIK 52 BHO|
IHO| £ shAe| fIE0| ez Fo|
SHMAI2.
® 2UEX| T2 mEHe 4 oLt ANRLAE &
2R MY Aol YesojyonR
WEs & AL
et EEHN. S (mm) 20 ‘ 25 ‘ 32 ‘ 40
MBI AELSE (mm/s) 50~750
5|2 2 Z0|| L x| (kgf—cm) 2.7 \ 4 \ 6.5 \ 12

2|EM HEYY FHE 2LEARR

HH = 2t JZMHE D—-C73K
COMPACT(EAZIE)H TR | w (=S 0fof H| W)
SIES Fuiol LIARES 7 stof 220 o25 032 240
A UOIB HAAZ TYPESE 2 MIE vis vis ML
B7te| S48 AHSHACY, SR
®’128(E7) @Y (D)
e=2iL2s(2)

103
www. TPCpage.co.kr




TCM2 Aj2|=

SaEA 9 SAE
e EZ | JURE
TTF [Teang | zoczo]| A 1402 | 2aus
THEA HE HE 20 ROIE ZQ1E
7=y o) O - o O
sus rey 0@ o - o o
zc= sany oM o - o o
== suny o) O - O O
ERY PN - O - O o
14 220~ - o - o O
o8 2RH| A - o o o o
EEY=IEE o) o - o o
EEEYrie o o - o o
COMPACT(E2AZIE) 7|2 o) O - O O
COMPACT(RAZE)ZHUXY o) O - O O
COVPACTEAZEEaIEE | OW) o = o o
T EER,

e (ko) =2 )
FELZ (mm) 20 | 25 | 32 | 40 FEWH (mm) 20 | 25 | 32 | 40

2583 0.20 | 031 | 042 | 0.77 258H 019 | 029 | 0.40 | 0.74

5083 0.22 | 033 | 046 | 0.84 5083 0.21 | 0.32 | 0.44 | 0.81

7538 0.27 | 042 | 058 | 1.03 758 0.26 | 0.39 | 0.54 | 097

ol & 10083 0.20 | 045 | 0.63 | 1.09 7l & 10087 0.27 | 0.42 | 0.58 | 1.03
z 2 12583 0.35 | 055 | 0.76 | 1.20 =z 12583 0.32 | 049 | 0.70 | 1.20
150847 0.37 | 057 | 081 | 1.36 15087 0.34 | 052 | 0.73 | 1.27

2008% - | - 097 | 161 20083 - | - |o88 | 149

2508 - - | - |8 2507 - - - |1

ey 0.15 | 0.16 | 0.16 | 0.27 ey 0.15 | 0.16 | 0.16 | 0.27
Xy 0.06 | 0.09 | 0.09 | 0.12 Xy 0.06 | 0.10 | 0.10 | 0.12

14+ ZalH| A 0.05 | 0.05 | 0.05 | 0.09 14 S3H( A 0.04 | 0.04 | 0.04 | 0.09

B |20 2EHIAY 0.05 | 0.06 | 0.06 | 0.13 sapt |26 2aH|AE 0.05 | 0.07 | 0.07 | 0.13
3 ¥ |EBd2y 0.04 | 007 | 0.07 | 0.10 5 ¥ |=2lUed 0.04 | 0.07 | 0.07 | 0.10
EELERE -0.02 | —0.02 | —0.01 | —0.04 Sajb|2 LAY -0.02| -0.03 | -0.01 | —0.04
COMPACT(2AZ(E)7|28 | -0.01 | -0.02 | —0.02| —0.03 COMPACT(EAZE)7128 | —0.01| —0.03 | —0.02 | —0.03
COMPACT(#AZE)Z#KE | 0.05 | 0.08 | 0.08 | 0.09 COMPACT(ZAZE)Z#K/E | 0.05 | 0.08 | 0.08 | 0.09
COMPACT(2AZE)E2LI2Y | 0.03 | 0.05 | 0.05 | 0.07 COMPACTIZAZEIEEILI2E | 0.03 | 0.05 | 0.05 | 0.07

A A [1edE zels 0.06 | 0.06 | 0.06 | 0.23 A A [IMHE FYUE 0.07 | 0.07 | 0.07 | 023
sept [2th42 Zel=(ERA | 008 | 0.08 | 0.08 | 0.20 sepl 282 ZUE@SA | 007 | 007 [ 007 | 0.20

104




gzg/os : #7521 TCM2 Al2[=

TEZ/FELIST
ZZI/RUBBER M2}
D 0 ® QDO ®»OHOOO DODBROD O @ ® ® 06
— [
HAREY SaH A UH
SZI/RUBBER M 522
D 0 PO O POBOOD & © O 6 "9 @ ® 06
’V/ ' 5= - p—
I = — — 3 1 1 I - - . Ll |
I | |
SELUST
s sz MoE H 2 Ws P2 MoE H 1
0 |Z=7H L0 | WA LF00(E ® |2YHA8BUSH | &4 &R/ e=
&l =7t —A " " ® |DAMPERA 2
&l =718 -B " " ® |DAMPERB "
P | 51=7H—C " " ©® |z ElaZ Y
® |d2HRE AR AZ ® |n2rELY NBR
@ |Dr=E L20|5e= AZHOoIE ® | DAETAAU "
® |IAEZRE o dEIAE == ® |WEARRING & X
® |BUSH sdetReta @ |EEEHHHE EaZh HAES
Q |mHZAM ALY L= =T
Z /e
® |a=szg z M ofeiz =00l = SPARE=&/u&t+&
® |2zZEIo= L20|5e= AZMOoIE + RUBBER T4 £1/0j|0] 51M S
® | 2=x|X|CH " ” o N FE LHE (mm)
- =R~ pN|
® |ogedmssEEl|  may [sMopiazEos 5| TEIIMI IEE T T [ a2 | a0
® |HEZ H$HaZTY Ha=g _ B8] PDU-8L7|PDU-10LZ | PDU-121Z | PDU-14LZ
@ | =507 | NBR [TOTT
"”‘Qi‘d PDU-8Z | PDU-10Z | PDU-12Z | PDU-14Z

105
www. TPCpage.co.kr



TCM2 Aj2|=

7|=2&(B)
Tow2B #g) $
oEB2 H2 G Re(PT)P
ohiBT H T Ew RC:QP N
\™ >V‘ T == /
- il
o =5 B L
Q B A :\ - —
MM /| AT I[15 CINA
A K |FN
HZH LG+#T F
] EREE]
(BRLT+2x #H)
COMPACT(HEARE)H
Al N4
VA }
./ i
HALT+ 8
(SRILT+2x )
* 2 D02 2C SEAolC (2l mm)
S84 A | AT | Bi B> E F G H H He | K MM N | NA NN P
20 18 [155|13 | 26 | 8 | 20 %y | 13| 8 | 41 | 5 | 8 |27 | 5| M8x1.25 | 15 | 24 | M20X1.5 | /s
25 22 [195]17 |32 | 10 | 26 % .| 13| 8 | 45| 6 | 8 | 33 | 55| MI10x1.25| 15 | 30 | M26X1.5 | /s
32 22 (195|117 |32 | 12 | 26 % s | 13| 8 | 45| 6 | 8 |37.5] 55| MI0x1.25| 15 |345| M26X1.5 | s
40 24 | 21 | 22 | 41 14 | 32 90.039 16 | 11 50 8 10 (465 7 | M14X15 |21.5]425| M32X2 s
HHE X8 (290 - mm)
-°"x3 1~50 51~100 | 101~150 | 151~200 | 201~250 _0'@ 1~50 51~100 | 101~150 | 151~200 | 201~250
S & LG | LT | LG | LT | LG | LT | LG | LT |LG | LT e L& LT LT LT LT LT
20 87 | 141 | 112|166 | 137|191 | — - = | - 20 128 153 178 - -
25 87 | 145|112 | 170 | 137|195 | — = | = = 25 132 157 182 = =
32 89 | 147 | 114 | 172| 139|197 | 164 | 222 | — - 32 134 159 184 209 -
40 113|179 | 138 | 204 | 163|229 | 188 | 254 | 213 | 279 40 163 188 213 238 263




#z.2x1 TCM2 Al2[=

a1 FEH(L)
ToML  (REUE) (8F) 3
HAH ChEB2
EEHEE |,
gy A K pFees” RePT)P Rc(PT)P G F 2-NN
AT el S Ny -
M ‘ Tjiz E = ey
Jaiac T o
"
/ 4—-@LD NG st )
MM 1’:FE jhﬁ. EEOM [ 4 - |
mar |3 P& o oA X L—Hﬁ
FAT+EE) AT+
% = Coie 2 SxIAlo|ch FALT+2xFF) (EH2 : mm)
E24ZH| A |AT|B B |B:|D | F |G |H|H |[H| | |K|LC|LD|LH|LA|LK|[LM| MM |N |NA| NN [P | X|Y |T
20 |18 (15540 |13 |26 |8 [13|8 |41 5 27| 5| 4 (6.8]25(3.2|40 |55 | M8x125 |15 | 24 | MOX15 | /s | 20| 8 | 21
25 |22 (195|47 |17 |32 |10 [13| 8 [45| 6 33|55| 4 (6.8]28(3.2|40 |55 | Mi0X125|15 | 30 | M26X15 | /s | 20| 8 |25
32 |22 [195(47 |17 |32 12 [13| 8 45| 6 375/5.5| 4 [6.8]28 |3.2]40 |55 | M10x1.25[15 |34.5| M26x15 | /s | 20| 8 | 25
40 24 121 |54 122 |41 114 |16 |11 |50 | 8 |10 |465] 7 | 4 | 7 |30 (3.2 |55 |75 | MI4x15 |21.5|425| MRx2 | 14 | 23|10 | 27
%OHEI% iI—JI\—E (22 : mm)
% 1~50 51~100 101~150 151~200 201~250
Rl e (s || || || ol s] ol .| s
20 |87 |127]156| 112| 152|181 | 137|177/ 206| — | = | = | = | = | -
25 87 | 127|160| 112| 152 185| 137| 177| 210| — - - - -] -
32 89 | 129|162 | 114| 154|187 | 139| 179| 212| 164| 204| 237| — | — | —
40 113 | 159| 196 | 138| 184| 221 | 163| 209 | 246| 188| 234| 271 | 213| 259 | 296
SlI=Z SEIXI™(G)
TovzG ) 3
ows1 Hi NN G RC(PTIP Rc(PT)P CjEiB2
— NN =3 = s
e .
s i NS
mm /| AT B WEETETY FK
A FIN i M
M2H LG+3F @402 AL
(EAH+3E) AT+ o Ho
(FRT+2xBH) HALT+HY 020~2322| 2%
(ZRLT+2xHH)
2 EpS 2C STAo[c) (E42] : mm)
S24d | A [AT |B |Bi |B:|C| D E | F|FD| FT|FK|FL|FM| G | H | H | He| I MM | N |NA| NN | P
20 18 155(34 [13 |26 30| 8 |20 %0usl 13| 7| 4|60| —|75|8 | 41| 5 27| 5 | M8x1.25 | 15 | 24 | M20X15 | e
25 22 1195(40 |17 |32 |37 | 10|26 %008 13| 7| 4 [60| — | 75| 8 |45] 6 33 [5.5|M10x1.25| 15 | 30 | M26X15 | /e
32 22 [195(40 |17 |32 | 37| 1226 %o0es| 13| 7| 4| 60| — | 75| 8 | 45| 6 | 8 [375/5.5| Mi0x125 | 15 |345| Mx15 | Ve
40 24121 |52 |22 |41 147311432 90039 16| 7| 5(66|36|82[11|50| 8 | 10(465| 7 | MI4x15 (215|425 M32X2 | /s
HHE X|+H (=9l - mm)
& 1~50 51~100 101~150 151~200 201~250
cepllg [T Tlolw T olw] 7o w] T
20 |87 |132| 141| 112| 157| 166| 137|182 191| = | — | = | = | = | -
25 |87 |136| 145| 112| 161| 170| 137 186| 195| — | — | = | = | = | -
32 89 | 138| 147 | 114| 163| 172| 139| 188| 197| 164| 213| 222| — | — | —
40 113 | 168] 179 | 138| 193| 204 | 163| 218 | 229| 188| 243| 254 | 213| 268| 279

www. TPCpage.co.kr




BCE ERXIE(F)
TCM2F  (REUZ)—(&F) S
oese
G RcPT)P Rc(PT)P G NN
ff;% A ;]— =7 —Em N[
& / o ik T
(G ﬂ SE=E= | E{@
[ m Q T u§
A ] f AT
i:f;; /) 7d T T NaEE A FE
- MAT N N [ F
2402 32 ey T -
(SRLT+2x#H)
COMPACT(HAZIE)H
I ik
_ N N
JaN
AT+
(SELT+2x %)
% 2 EHe 25 =70, (S mm)
s=yA[a [ar|B [B B |cID|] E [FID|FTrc|F]rv[G [H R [H] 1 [K] MM [ N[NA] NN [P T
20 |18 [155(34 |13 26| 30| 8 |20 % s 137 | 4 |60 — | 75| 8 |41 |5 27| 5 | Mex125 | 15 | 24 | Meox15 [1/8] 37
25 [22(195(40 |17 [32|37[10 (26 % 0es 13]7 | 4 |60 — | 75| 8 |45 6 33 | 5.5/ M0x125| 15 | 30 | M26x15 [1/8] 41
32 |22 |195(40 |17 |32 | 37(12 |26 Oypee 13| 7 | 4 | 60| — | 75| 8 |45 | 6 | 8 [375|5.5|M0x125| 15 |345| Meex15 | 1/8] 41
40 |24 |21 |52 |22 | 41 [47.3)14 |32 Oyl 16| 7 | 5| 66| 36| 82[11 |50 | 8 |10 [465| 7 | Mi4xi5 |215|425] wgxe |1/4 | 45
#| 150 | 51~100 | 101~150 | 151~200 | 201~250 B 150 | 51100 | 101~150 | 151~200 | 201~250
3 <
2l le[ir (e ] e (e | [ [ PSS LT LT LT LT
20 |87 [141 |112|166(137 191 | = | = | = | - 20 128 153 178 - -
25 | 87 [145 |112 | 170|137 |195 | — = | = 25 132 157 182 - =
32 | 89 [147 |114 | 172|130 |197 [164 |222 | — | — 32 134 159 184 209 -
40 |113 [179 |138 | 204 | 163 | 229 | 188 | 254 | 213 | 279 40 163 188 213 238 263

108




gzg/os : #7521 TCM2 Al2[=

144 S2HIAH(C)

ToM2C #g) S
@DCDxi0 g
1B ij NN G Re(PT)P
=
20 2
S sl ¢ A
MM AT ..1_5 W
Sty L+ad L
FEEH+EY) AT+ R
(FAT+2xHY)  HHLT+EY
(FRLT+2x )
2 Lo 20 SXIA0[Ch (&2 + mm)
SELHE | A |AT | B |CD|CX | D E F | G|H|H I | K | L MM N | NA NN P |RR| W
20 18 155 13 10 | 8 2090_033 13| 8 |41 |5 |27 |5 |30 | M8x125 | 15 | 24 | M0x15 [1/8] 9 |14
25 22 |19.5| 17 10 | 10 2690_033 13| 8 |45 | 6 | 33 |55 (30 | MI0OX125 | 15 | 30 | M%6x15 [1/8| 9 |14
32 22 [19.5| 17 10 | 12 2690_033 13| 8 |45 | 6 [37.5/55 |30 | MI0x1.25 | 15 (34.5| M26x15 |1/8| 9 | 14
40 24 121 |22 |10 |15 | 14 3290,039 16 | 11 |50 | 8 (465 7 |39 | MI4x15 |21.5(42.5| M3®2x2 |1/4| 11 | 18
%OHJgtg NESETS (2 - mm)
# 1~50 51~100 101~150 151~200 201~250

R { LG | T |LT|LG| T|LT|LG| T |LT|LG| T |LT|[LG| T |LT
20 87 | 158|167 | 112183192 | 137|208 | 217| — | — | — | — | — | —
25 87 | 162171 | 112187196 | 137|212 | 221 | — | — | — | — | — | —
32 89 | 164|173 | 114 189|198 | 139|214 | 223 | 164 | 239|248 | — | — | —
40 113 | 202 | 213 | 138 | 227 | 238 | 163 | 252 | 263 | 188 | 277 | 288 | 213 | 302 | 313

244 SH[~2(D)
= 5 S
TCM2D Hy) 2

NN G A

C0H03™

&
o
&
&
=

]
|
|

|

e B

@Eng
2D

o

— 491% (NA

[aH LGHeE L cz

LT
58 (+x@d]

= E0ie 2C SXAo|ctH (Sl © mm)

SELfd | A |AT | B |[CD|CX|CZ| D [E F |G |H/|H | K L MM N | NA NN P [RR|W

20 18 |1155(13 | 9 | 10|19 | 8 | 20 _00_033 1318 |41 |5 |27 |5 |30 | M8x125 | 15| 24 | MOx15 |1/8| 9 |14

25 22 (195(17 | 9 |10 119 |10 | 26 90.033 13|18 | 45| 6 |33 |55|30 |MI0OX1.25| 15| 30 | M%6x15 | 1/8| 9 |14

32 22 (195(17 1 9 |10 119 |12 | 26 90_033 13| 8 | 45| 6 |37.5/55| 30 | MI0X1.25| 15 |34.5| M%Bx15 | 1/8| 9 |14

40 24 121 122 |10 | 15|30 | 14 | 32 90_039 16 | 11 | 50 | 8 [46.5| 7 | 39 | MI14x15 |21.5|42.5| M32x2 |1/4| 11 |18
Y K|SE (@9 : mm
EE 1~50 51~100 101~150 151~200 201~250

el IG| T|LT|LG| T |LT|LG| T |LT|LG| T |LT|[LG| T |LT
20 87 | 158|167 | 112|183 192 | 1371208 | 217| — | — | — | — | — | —
25 87 | 162171 | 112|187 196 | 137 (212 | 221 | — | — | — | — | — | —
32 89 | 164|173 | 114189198 | 139 | 214 | 223|164 | 239|248 | — | — | —
40 (113 | 202 | 213 | 138 | 227 | 238 | 163 | 252 | 263 | 188 | 277 | 288 | 213 | 302 | 313

109
www. TPCpage.co.kr



TCM2 Aj2|=
2= EBLI2E )

TeM2U 29 §

% e o g2 ch’;)P _G_ NN
/K'N £ - L
o) el [
/- IS}
&) a |
MM AT
A K ‘TT
TK ;@ﬁT N 1.5
il TR N LGraE F
(2& H+#E) LT+8
(& LT+2x 8 H)
COMPACT(EAZE)Y
A T
Tl P
& AN
= HAELT+HY
(BRLT+2x #H)
¥ EHE 25 STIA0|CH (2l : mm)
SEUHZE| A |AT| B [B | D E FIG|H|H| I K MM N | NA NN P (TD |TT | TK|TL |[TM | T
20 18 |155/13 |26 | 8 2090_033 13| 8 |41 | 5|27 | 5 | M8X125 |15 | 24 | M20x15 [1/8| 8 |10 | 32|32 |52 | 36
25 22 119517 | 32 | 10 2690.033 13| 8 |45 | 6 | 33 |55 |MI0x1.25| 15 | 30 | M26Xx15 [1/8 | 9 |10 | 40 | 40 | 60 | 40
32 22 (19517 | 32 | 12 26?0_033 13| 8 |45 | 6 |37.5/ 55 |M10x125| 15 |34.5| M26X15 |1/8 | 9 |10 | 40 | 40 | 60 | 40
40 24 (21 122 |41 |14 3290_039 16|11 |50 | 8 |46.5| 7 | M14x15 21.5/42.5  M32x2 |1/4 |10 |11 | 53 | 53 | 77 |45

A X8 (E+2l - mm)
B8 1~50 | 5i~100 | 101~200 | 151~200 | 201~250 B8] 1~ | 51~100 | 10~150 | 151~200 | 201~250
s 6 (17 |16 | 7|16 [T [16 [T |G [T el o LT T LT LT
20 |87 [141 112166137 [191 | = | = | = | - 20 | 128 153 178 - -
25 |87 145 |12 170|137 |195 | - - |- 25 | 132 157 182 - -
32 |89 147 |114 | 172|139 |197 |164 222 | — | — 2 | 134 159 184 209 -
40 |113[179 |138 | 204 | 163 |220 | 188 | 254 |213 | 279 40 | 163 188 213 238 263




Ezg/os #5521 TCM2 Al2[=

SafHIA LHIE(E)
TOM2E @) 7

’ (SHLT 2 47) AT+
| mmn (FRT+2x 47) LG+ L lem
(FTH+ET) N N [ CINA
A K Fla Tgiw! | gopwg®™ oxX 0
AT Re(PT)P Re(PT)P | i/
HI =a B l H/ ’ P
Je—rH v s fim
ST = - — - —— - — —- L+
Q
/ . T
| !
MM NN 15 —_—
FEEY
¥ 2 EH2 25 2XIA0|C) (Sl © mm)
S=4d | A [AT| B |CD|CX| D E FIG|H|H| I |K|L[L| MM |N|NA| NN | P |RR|W
20 18 [155) 13 | 8 [ 12| 8 |20 %ol 13| 8 | 41| 5 |27 | 5 | 12 [18.4] Mex1.25 | 15 | 24 | meox15 | 1/8| 9 115
25 201195017 | 8 [ 12 10 | 26 %0ss| 13| 8 | 45| 6 | 33 |55 | 12 |18.4| Miox125| 15 | 30 | Mo6x15 [1/8] 9 [11.5
32 22 (195017 [ 10| 20 | 12 | 26 %05 13| 8 | 45| 6 |37.5/55 | 15 | 28 | Mi0x1.25| 15 |34.5| Mo6x15 [ 1/8 | 12 [14.5
40 24 |21 |22 (10| 20 | 14 |32 %os| 16 | 11| 50 | 8 |46.5] 7 | 15| 28 | midx15 [21.5/42.5) maex2 |1/4 | 12 145
%OHEI% il—¢—£ (2l : mm)
# 1~50 51~100 101~150 151~200 201~250

L LG | T |LT|LG| T|LT|LG| T |LT|LG| T |LT|LG| T |LT
20 87 | 140149 | 112165174 | 137|190 | 199| — | — | = | — | — | —
25 87 | 14411563 | 112169178 | 1371194 | 208| — | — | — | — | — | —
32 89 | 149161 | 114 | 174|186 | 139|199 | 211|164 | 224|236 | — | — | —
40 |13 | 178|190 | 138 | 203 | 215 | 163 | 228 | 240 | 188 | 253 | 265 | 213 | 278 | 290

111
www. TPCpage.co.kr




TCM2 A|2[=

SI=ES ELIZE(T)

oMzt ) $
Rc(PT)P G &g
oietgt N G Ri:TP ~ B2 g
NN =t =]
N HE L . 8
s BLE <K /=S
MM AT 15 N 4HE[ONA N TK
Aty LG+3H 1T] ™
EAH+EE) TATHEE
(FAT+2x W)
HELT+3H
% 2 EHe 2C SEIAjo|CH (FALT+2xAF) (549 mm)
=olH| A |AT|B1|B2| D Ee |F|G|H|H|I|K MM N | NA| NN P |TD|TT|[TK|TL [T™
20 |18 155/ 13 |26 | 8 | 20 % | 13| 8 |41 | 5 |27 | 5 | M8x125 | 15|24 | M0x15 |1/8| 8 |10 |32 |32.8] 62
25 |22 1195/ 17 [32 |10 | 26 %0ss| 13| 8 | 45| 6 | 33 |55| Miox125 | 15|30 | mesx15 |1/8| 9 | 10 | 40 [40.8] 60
32 |22 119517 |32 |12 | 26 % 0| 13| 8 | 45| 6 [37.5/5.5| Miox125 | 15 [34.5] moex15 |1/8 | 9 | 10 | 40 [40.8] 60
40 |24 |21 22|41 |14 |32 %00 16| 11|50 | 8 [465 7 | Miax15 |21.5425] M3ex2 [1/4 |10 | 11 | 53 |s3.8] 77
Y X|H (£ = mm)
L 1~50 51~100 101~150 151~200 201~250
e T || T |G| T |G| T]o|w|T Lo
20 |87 |133|143|112| 158|168 |137[183[193| — | = | = | = | = | =
25 |87 | 137|147 | 112| 162|172 | 137 (187 [197| — | = | = | = | = | =
32 |89 | 139|149 | 114 | 164|174 | 139|189 | 199 | 164 | 214|224 | — | — | —
40 |13 |1685| 179 | 138 | 1935|204 | 163 | 2185 | 229 | 188 | 2435| 254 | 213 | 2685 | 279
(=) Olx olxI(sl
FEESEAX| MHUX|(FHED
D-C73KY
S
E T AQ HxpA
LL ) (BN oeagy EESAR TAT
;’T%r w.g__ré oVl a_AT 27N R EF 7l &k 171 2=
% B0 - oE=a | sum | op=a | sud
TN REAYRT
15445 =)
D - C73K 15 50 2 50+4500-2) 10
(n=2468-)
LQEAR|X| MALIX|(HETH (49 mm)
EERR EEEE
o s
SESHA| oz AO o | o BO HS
~50 [ 511007 | 1011507 | 1512007 | 201 ~250° ~50 | 51~100° | 1011507 | 151~2007 | 201 ~250°
20 2 57 g2 | 107 | 132 31 56 | 81 | 108 | 131 25
25 32 57 8 | 107 | 132 7 31 56 | 81 | 106 | 131 25
D-C73K 32 33 58 83 | 108 | 133 8 3 57 | 82 | 107 | 132 | 285
40 38 63 88 | 113 | 138 12 13 37 62 | 87 | 112 | 137 | 325




